
 

 

Answer on Question #61611 – Math – Geometry 

Question 

How many square inches of a material is needed to create an open top rectangular 

solid whose volume is 54 cubic inches? Assume that the length and width are of the 

same measurement and that the height is twice the length. 

Solution 

 

Assume that length = x inches. 
Then width = x inches, height = 2x inches. 

Volume = length ∙ width ∙ height, hence 
𝑥 ∙ 𝑥 ∙ 2𝑥 = 54 

𝑥3 =
54

2
 

𝑥 = √27
3

= 3 (𝑖𝑛𝑐ℎ𝑒𝑠) 
𝑆 =  𝑥 ∙ 𝑥 + 2 ∙ 𝑥 ∙ 2𝑥 + 2 ∙ 𝑥 ∙ 2𝑥 = 9𝑥2 
𝑆 = 9 ∙ 32 = 81 ((𝑖𝑛𝑐ℎ)2) 
 
Answer: 81 square inches of a material is needed to create an 
open top rectangular solid. 
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